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VECTOR ANALYSIS AND GEOMETRY @ 0 (b) 1
Paper - 111 () 3 (d) -3
hi Time Allowed : Three Hours] [Maximum Marks :[Reg.- 40 E'; i i) _[:r dr &1 g
z . Put-50  Z  Z
: : (a1 0
% e wlt ve gt Pt sifrard R ;: ;D“ (@) 1
oy o
g . Note : Attempt all questions are compulsory. ; E (w) 3 |
] © (@) R @

gug - 3/ Section - A

The value of _L r.dr is
El'ﬁjﬁ'a "9/ Objective Type Questmns |

(@ O
Sx1=5 b) 1
el ﬁm £l | (¢) 3
Choose the correct answer. @) None of these
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ax2+2}uy+by2+23.r+2sz+c=0
sfwaes fFrefa wym afe

(%) A=0,h* =ab

() Az0,h*=ab

(W) A#0, h*<ab

() A#0,h >ab

The equation

ax® +2hxy +by? +2gx+2fy+C =0

represents a hyperbola if
(a) A=0,h*=ab
(b) A#0,h =ab
(c) A#0.h <ab

(d) A#0,h*>ab
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@WWWQH(0.0.0}@?W

o BroUr THiER A2 +Tm* +8n* =0 B
e B! 8

(31) tmx+nmny+nlz=0
(H] 4.1'2 +?y2+8;2 =
(@ xy+yz+zx=0

() by+myz+nzx=0

Equation of a cone whose vertex is (0, 0,0)
and whose direction cosines satisfy equation

41% +7m* +8n* =0 is
(@) Imx+mny+nlz=0
() 4x*+7y*+8z*=0
(¢) xy+yz+zx=0

(d) Iy+myz+nzx=0
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| 2 ' 7 i +asingj + at tan ak find
L2 If 7=acosti+asing+attanak then
V) W—i"i'b—:-——-ﬂ— fArefla o & q
ek . dr d°F
() ¥ dt dr®
(7) vo Afovaeay /OR

(@) & Jedgeita ww@aas

(3) @ IRREART RIeaS aft r2=a2+y +7°, a4 grad ' W HE T
z

e |

2 2

The equation I = 2 represents T F If r? = x>+ y* + 2%, then find grad r".
at b < 5 3 .
(a) anellipsoid 3 2 N
. = = d°F _ ) :
(b) ahyperboloid sz Q3 wRwwiwwm —g=-nF AHTEHA HITY
(c) anelliptic paraboloid rfg, % _
(d) ahyperbolic paraboloid ; £ | Q .
http://www.onlinebu.com 2 3 Integrate the vector equation yEae n°r.
-9 tion - B :
@us - §/Sectio | JOR
w1g Ia we/Short Answer Type Questions S
§5x2=10 fasmgd L[(::ﬂs.rsin y = Xy )dx + sin xcos ydy] '
dr  d*F 1 gt S ogl C, ga P+ y> =12
2. ofd ¥ =acosti+asinyj+artanak T ——X—5" |
’ | deod Evaluate L[(cos xsin y — xy)dx +sin xcos y dy]
@1 1. 3 ST | : | )
by Green's theorem, where C is thecircle x* + y* =1.
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Q4. q?ﬁx2+_j'2+2.r+3}‘=7 AR o +_\':—6.t4-2_v=5

& wfaeedt gl aur 3@ g (2. - 3) ¥ A
M AT I BT TR 3 HIf |

Find the equation of circle which passes through
the point of intersection of circles

4yt +2x+3y=7 and ¥ 432 _6x+2y=5
and given point (2, - 3).

ayar/OR
Rig Afry e wftmes —=1-ccosd st

[
—=~l-ecost g & aiza & Al =T 2 |

r

. { '
Prove that the equations —=1-ecos@ and
r.

-= —1-ecos & represents the same conics.

Q.S. mﬁa@mmmaﬁﬁqﬁﬁimmﬁ
W B omar &
Find the equation of quadric Cone which passes
through the coordinate axes.
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P ax +b) +ezt =1, Ix+my+nz=p qur
RRTPT TFE 2-H&f F AR & |
Find the equation of quadric cylinder, whose

: , : 2
guiding curve is axt +by? +cz* =1,
Ix+my + nz = p and whose generator is parallel

to z-axis.

fag S0 & g9ad x+2y-2z=4 WRIAgoT

3x* +4y” =24z o wef Fwar } tﬂ&fﬁg%
Filars sma S |

Prove that the plane x+2y—-2z=4, touches

paraboloid 3x” +4y* =24z. Find the point of

contact

aFEr/OR

METHA 3x2 +2y% 1572 = 4 P yfreDe o a1
I AT T WHIBROT Ie Hiferg S 27 stiwas ?ﬁ"
;ﬁm#uﬁr@aaﬂm%ﬁrﬂaﬂ&——a(—z 3,~

|
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9

‘ ' ' 7 is constant vector . then prove that
Find the equation to the plane which cuts the If @ is cor

- conicoid 3x* +2y? ~15z2 =4 in a conic whose a) div(7xa)=0
centre is at the point (-2, 3, -1). L -
point (=2, 3,-1) b) Curl (Fxa)=-2a
@UE - ¥/Section - C
22,22 .2 2\ ¥
i Ieta w971/ Long Answer Type Questions Q8. -[s(" SAAEE AR A)"d"’ e T STE
- http://www.onlinebu.com 5%5=25 S. xy @& A FUTR T 3—\.ﬁ 3 fomr ESH Tﬁ?ﬂ'

. . 2,2, .2_
Q7. X G=i+2j+3k, b=2i—j+k @ XKEy sl T YmE |

¢ =3i+2j -5k 99 gaaifta SR Evaluate ‘L(}=232£ + zzxzj -~ zz}'zk)ﬁds , where S,

a X(b Xr—‘) =(a-c)-b- (5 'b)' c is part of sphere x* + y* + 7% =1 above xy plane
and bounded by it |

Er/OR

andE:Sf+2j-5k.than- | - .
. Fet F=(x+)?)i-2xy % R w2 s @)

ax(536)=(5.-5)-5—(a-b)-5 AR )
| weafad Tafd TG B AW x = *a,
GIQIHT/OR y:O.)-‘:ba‘:'Wﬁﬁ'ﬁmT’mT%I ' i
afe a R wRw &, 77 g Hfdg

fa=i+2j+3k.b=2i—j+k

wod ngauljuo mmm/dpy
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#) div (Fx@)=0 Verify Stoke's theorem for /~ = (xz +y2)i—2xyj
WwirxXa)=
when integration is taken around the rectangle
q) Curl (Fxd)=-2a x=%a,y=0,y=p.
YA18-133 |
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MBT x* +4y° —4xy-32x+4y+16 = 0 BT @

T

Trace the Conic x* +4y* —4xy-32x+4y+16=0.
3rEar/OR

U qd UF Nidd B AN S F o g 3R 38 IR

Rt A Rerar R SAgRAT 7y, 1o, 3 3R 7y

¢, 7 Rig fRW & nnnr = J;E

A circle passes through the focus S of a conic and
meets it in four points whose distances from S are

J"
d*1?
risra, 3 and ry, then prove that ninrir = —

-

ﬁl@%‘t{ﬁ?.r+y+:=0HﬂTa}".—:ji-bz,r+cxy=0
5 Yeanall & dvw B 2 R AR g4pec=0

Prove that the angle between the lines given by

. T,
x+y+z=0 and ayz+bzx+cxy=0 is = if

a+b+c=0.
ar/OR
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(12)
S AT Jo BT FHIEROr T B et
froa 2 sl g X212 =2_ 279 g

2 I 2

Find the equation of right circular cylinder whose

LJp— _1_? o J—
-radius is 2 and axis is 2 ! D 3.
2 ] 2
Q.11. fig vty fs wmerer 3x+12y -6z =17 ehidast
3% —6y* +92° +17=0 ¥ wef Fwar & 1 wef
fa=g & Fderies it sa HIfdTT |
Prove that the plane 3x+12y -6z =17 touches
the conicoid 3x* =6y +9z% +17 =0. Find also
the coordinates of point of contact.
3rrar/OR
AFRIIRGET. yz + 22x + 3xy + 6 = 0 B 570 @i
& [HIBRUT 1T BT 1 famg (-1, 0, 3) & graw
STt 2 |
Find the equations of generating lines of
hyperboloid yz+2zx+3xy+6 =0 which passes
through point (-1, 0, 3).
':‘ ‘:0 0:. 0:0 0:0 O:. 0:’
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